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3612 (KO ZAX KON 0 X 1 30 0 OoXI OoXlI | oxi 2 | 11,00 | ox 73 OoXI oxl | 1040 100 220,00 511 1.871,00 1
3782 |XET FEQ EMM | O X 1 10 0 NAI oxXl | oxi 2 12,21 | OXI 84 OXI oxXI 560 300 100 244,20 588 1.792,20 2
3794 |KOY MAP NIK o X 1 26 0 oxXI OoXl | Oxi 17,55 | NAI 31 oxXl oxXl 1040 351,00 25 217 1.633,00 3
4212 |XTP MAP EQ ] X 1 0 8 NAI NAI NAI 1 15,31 | OXI 31 OXI NAI 320 300 200 100 50 306,20 217 130 1.623,20 4
3744 |KAT MAP I0A o X 1 10 0 oxXl OoXl | Oxi 17,00 [ OXI 84 oxXl oxXl 560 340,00 588 1.488,00 5
3700 |TZI QOYP AGA o X 1 30 0 oxXI OoXl | OxiI 18,00 [ OXI 0 OXI oxXI 1040 360,00 1.400,00 6
4367 [TIA ANA |ATH 0 X 1 10 0 OoXI OoXl | Ooxi 1 | 14,31 | NAI 47 [ OoXI 560 50 286,20 25 329 1.250,20 7
3842 |[MHN EAE 2TA ] X 1 8 0 OXI oxl | oxi 1 13,46 | OXI 65 OXI OXI 440 50 269,20 455 1.214,20 8
4252 |INTA NIK KQN o X 1 0 0 NAI OoXl | Oxi 2 | 19,10 | NAI 56 oxXI oxXI 0 300 100 382,00 25 392 1.199,00 9
4371 |MAN FEQ KQN 0 X 1 0 5 oxXI OXl | Oxi 2 | 13,77 | NAI 84 oxXI oxXI 200 100 275,40 25 588 1.188,40 10
4015 |TZI AT XAP 0 X 1 0 5 OoXI OoXI | Oxi 2 | 17,45 | NAI 64 OoXI OoXI 200 100 349,00 25 448 1.122,00 11
4042 |POY MAP IQA (] X 1 9 0 OXI oxXl | oxi 2 17,00 [ OXI 16 OXI OXI 500 100 340,00 112 1.052,00 12
4089 [TIA I0A EMM | O X 1 0 0 oxXI OoXl | Oxi 2 | 16,15 | NAI 84 oxXl oxXl 0 100 323,00 25 588 1.036,00 13
4007 |TIA FEQ ENAE ] X 1 0 1 OXI oxl | oxi 2 15,08 [ OXI 84 OXI OXI 40 100 301,60 588 1.029,60 14
3932 [XOY MIX NIK o X 1 0 0 oxXI OoXl | Oxi 2 | 16,00 | OXI 84 oxXI oxXl 0 100 320,00 588 1.008,00 15
3786 |OPA KQN MIX ] X 1 0 0 OXI oxl | oxi 14,00 [ NAI 84 OXI OXI 0 280,00 25 588 893,00 16
4214 |[MHA EMM [IQA o X 1 0 0 oxXI OoXl | Oxi 15,00 [ OXI 84 oxXI oxXl 0 300,00 588 888,00 17
4093 |ZKO EMM [NIK ] X 1 0 0 OXI oxXl | oxi 12,93 | NAI 84 OXI OXI 0 258,60 25 588 871,60 18
3628 |2TE XAP KYP o X 1 0 8 oxXI OoXl | Oxi 1 11,00 [ OXI 40 oxXl oxXl 320 50 220,00 280 870,00 19
4204 (MAG®@ [TEQ STY 0 X 1 0 0 oxXI oxl | oxi 1 10,77 | OXI 84 oxXI oxXI 0 50 215,40 588 853,40 20
3868 |KOP rEQ I0A 0 X 1 0 0 OoXI OoXI | Oxi 15,00 | NAI 68 OoXI OoXI 0 300,00 25 476 801,00 21
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3573 |KOI EYZ F'EQ 0 X 1 0 11 oxXI OoXl | Oxi 2 | 14,00 | ox 4 oXI oXI 360 100 280,00 28 768,00 22
3901 |TZI AAA I0A o X 1 3 0 oxXI OoXl | Oxi 13,00 | NAI 65 oxXI oxXl 0 260,00 25 455 740,00 23
4246 |XPY EMM [TEQ 0 X 1 0 9 [ oxl | oxi 1 15,16 | NAI 0 oxXI oxXI 360 50 303,20 25 738,20 24
4083 ([MIMA |KQN rEQ 0 X 1 0 9 OoXI OoXI | Oxi 17,27 | NAI 1 OoXI OoXI 360 345,40 25 7 737,40 25
3759 |MAP XAP NIK ] X 1 0 0 OXI oxl | oxi 10,00 [ OXI 73 OXI OXI 0 200,00 511 711,00 26
3569 |ANO OYP rEQ 0 X 1 5 0 OoXI OoXI | Oxi 11,00 | NAI 26 OoXI OoXI 260 220,00 25 182 687,00 27
4447 |NIK IQA OEO ] X 1 0 0 OXI oxl | oxi 13,64 | OXI 58 OXI OXI 0 272,80 406 678,80 28
3610 |KAT EYT F'EQ 0 X 1 0 3 oxXI OoXl | Oxi 12,00 | NAI 3 oxXI oxXl 120 240,00 25 21 406,00 29
4161 |MAMN NIK EMM | © X 1 0 0 [ oxl | oxi 2 | 11,00 | ox 5 oxXI oxXI 0 100 220,00 35 355,00 30
4459 [XNA MIX ANT o X 1 0 0 oxXI OoXl | Oxi 15,00 [ OXI 0 OoXI OoXI 0 300,00 300,00 31
4041 |APE MAP MYP ] X 1 0 0 OXI oxl | oxi 14,48 | OXI 0 OXI OXI 0 289,60 289,60 32
4327 |MAI AIK XPI o X A 0 0 NAI OXl | Oxi 1 19,00 [ OXI 0 oxXl oxXl 0 300 50 380,00 730,00 33
4364 (MAN AHM KQN 0 X A 0 0 [ oxl | oxi 1 15,00 | OXI 19 oxXI oxXI 0 50 300,00 133 483,00 34
4346 [XAT STA MIX o X B 22 0 oxXl NAI | OXI 3 oxXl 77 oxXl oxXl 1040 200 150 539 1.929,00 35
3686 |MAP EIP ANT ] X B 14 0 NAI oxXl | oxi OXI 84 OXI OoxXI 800 300 588 1.688,00 36
3740 |TZO ANE MIX o X B 20 0 oxXl OoXl | Oxi 1 15,93 | OXI 35 oxXl oxXl 1040 50 318,60 245 1.653,60 37
3850 [MET AIK KQN ] X B 4 0 NAI oXxl | oxi 1 13,77 | OXI 80 OXI oxXI 200 300 50 275,40 560 1.385,40 38
4355 [TZI AHM  |AEQ o X B 0 5 oxXI OoXl | Oxi 13,10 [ OXI 77 NAI oxXl 200 262,00 539 200 1.201,00 39
4359 |APA EMM [NIK o X B 0 9 oxXI OXl | Oxi 2 12,00 [ OXI 63 OXI OXI 360 100 240,00 441 1.141,00 40
4458 ([BAM MAP  [MIX 0 X B 5 0 OoXI OoXI | Oxi 13,54 | OXI 84 OoXI OoXI 260 270,80 588 1.118,80 41
4390 |KEN MIX EMM | O X B 0 0 OXI oxl | oxi 1 19,00 [ OXI 84 OXI OXI 0 50 380,00 588 1.018,00 42
3885 |AEM EYA ANE 0 X r 14 0 oxXl OoXl | Oxi oxXI 0 NAI oxXI 800 200 1.000,00 43
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4423 |KAI I0A EYO 0 X r 0 0 NAI oXl | Oxi 16,20 | NAI 26 oXI oxXI 0 300 324,00 25 182 831,00 44
4147 |MOI IQA KQN o X r 0 6 oxXI OoXl | Oxi 2 | 16,57 | NAI 14 oxXI oxXl 240 100 331,40 25 98 794,40 45
3925 (AYP OAIl FEQ 0 X r 0 0 oXI NAI | OXI 2 | 14,45 | ox 28 oxXI oxXI 0 200 100 289,00 196 785,00 46
3553 | XAA FEQ MAP | O X r 0 0 OoXI OoXl | Oxi 18,00 | NAI 28 oxXl NAI 0 360,00 25 196 130 711,00 47
4300 ([MAA  |AHM |HAI 0 X r 0 0 oXI OoXl | Oxi 2 | 16,45 | OXI 14 oXI oxXI 0 100 329,00 98 527,00 48
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